GHB-1340A Chuck Guard Assembly

Product Images

//////
https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-chuck-guard-assembly



https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-chuck-guard-assembly

Description

Index Number

10

11

12

13

14

15

16

19

21

Part Number

GHB-CGA

GHB1340A-19701EG

GHB1340A-19501E

ZX-19704E

SG-04

A90

TS-1503031

TS-1540021

TS-1550031

TS-1532042

TS-1550031

TS-1534032

GHB1340A-19703E

TS-1524021

TS-1503071

TS-1524041

GHB1340A19704

GHB1340A19702E

TS-1540061

Additional Information

Description Size
Chuck Guard Assembly (index #1 thru 21)

Protection Guard

Protection Guard Visual Glass

Fixing Rod

Handle (serial #16013258A and lower) HY32-1

Handle (serial #16043259A and higher)

Hex Socket Cap Screw M6x12
Hex Thin Nut M4
Plain Washer 4 mm
Cross Recessed Pan Head Screws M4x12
Plain Washer 6 mm
Cross Recessed Pan Head Screws M6x10
Rest Bar

Hex Socket Set Screw M8x10
Hex Socket Cap Screw M6x30
Hex Socket Set Screw M8x16
Switch Box

Shaft

Hex Nut M8

Qty

Stock Number

Products in this set

321119-19

https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-chuck-guard-assembly

713125


https://jpw-catalog-qa-b2c-5.corevist.cloud/ghb-1340a-chuck-guard-assembly

